Al 3
HERNHESEE R BHRGR (&¥)

OFREERZI % 8 B 52 &
QEIRFRH 1,298
QEMIXRY 12

@ R #& 8 1,310
OlEHEER

AR HB @B — 31

2V A D B — 146
3 |[A] # = = 204
415K B F 238
5 HAED & B 143
6 |{& H OTOHY 118
T 7K KLA&D 66
8 | KX HI K 80
9 K ¥ & — B 272

8l

A A

1B

1B

1B

1B

1B

1B

1B

1B

1B

KEERR 40.562 B (s TS T)




FISRMER "FRHY
EHERRBOSE 1.298 =
RADEFEVIVIE TR 0 R
WFhOBEBHEICERIGVER 0 =
FREH(A+B+C) 1,298 -]
IR 19 =
HREH(D+E) 1.310 R
R 0 R
reaonR || H5RY 0 =
T Dfth 0 R
BREHEBLH(F+G=I) 1’310 -]
EREBR(ERGR) R

1310




